
R

Page 1 of 4                      Note: When ordering, ALWAYS specify Part #, Model #, Serial #, Voltage & Phase.                   Form #67158 Rev. 7/06

Phone: (214) 421-7366                                                                              

Fax: (214) 565-0976                             

Toll Free: (800) 527-2100                       

Website: www.apwwyott.com  

E-mail: info@apwwyott.com 

BT-15
Conveyor Toasters729 Third Avenue

Dallas, TX  75226

REPLACEMENT PARTS CATALOG & WIRING DIAGRAM

1 5/8 INCH OPENING UNITS
Part Number                                                Voltage                                                     Hertz

BT15C                                           208V                                             60HZ
BT15E                                           240V                                             60HZ
BT15F                                           240V                                             50HZ

BT15C-2                                          208V                                            60HZ
BT15E-2                                          240V                                            60HZ
BT15F-2                                          240V                                            50HZ

2 INCH OPENING UNITS
Part Number                                                Voltage                                                     Hertz

BT15C-3                                          208V                                            60HZ
BT15E-3                                          240V                                            60HZ
BT15F-3                                          240V                                            50HZ

3 INCH OPENING UNITS
Part Number                                                Voltage                                                     Hertz



Item ItemDescription DescriptionPart No.e Part No.e

Page 2 of 4                          Note: When ordering, ALWAYS specify Part #, Model #, Serial #, Voltage & Phase.                Form #67158 Rev. 7/06

R

Phone: (214) 421-7366                                                                              

Fax: (214) 565-0976                             

Toll Free: (800) 527-2100                       

Website: www.apwwyott.com  

E-mail: info@apwwyott.com 

BT-15
Conveyor Toasters729 Third Avenue

Dallas, TX  75226

1 83834 Element Rack Assembly

2 82828 Idler Shaft Assembly

3 82921 Drive Shaft 3 Segment Belt

82826 Drive Shaft 1 Segment Belt

4 82856 Reflector, Crumb Tray

5 82853 Bread Slide

6 83888 Bread Drawer Tray

7 54005 Element 208V, 1400W Bottom

54006 Element 240V, 1400W Bottom

8 85143 Drive Motor, 208-240V

85142 Drive Motor 230V, 50Hz

9      69103-EGO Top Infinite Control 240V

        69104-EGO  

10 88705 Knob, Infinite Control

11 67002 Main Power Switch

67003 Switch Plate On-Off

12 89408 Stand-By Switch

13 83222 Speed Control 208-240V

14 75617 Knob, Speed Control

15 82852 Dial Plate

16 83863 Power Cord 30A, 208-240V

17 89111 Strain Relief Bushing

18 85284 Cooling Fan 208-240V

19 85285 Cord, Cooling Fan

20 89145 Terminal Block

21 83261 12T Conveyor Sprocket Std

83240 16T Conveyor Sprocket

22 83209 23T Motor Sprocket Std

83260 18T Motor Sprocket

23 82902 Drive Chain 67 Links

24 83248 Bearing, Shafts

25    87053-EGO Bottom Infinite Control 240V

        87054-EGO

26 83868 Spacer, Bearing Shafts

27 82925 Conveyor Belt 3 Segments

83859 Conveyor Belt 1 Segment

28 83874 Master Link Conv Belt 1 Segment

29 83267 Leg 1 ½ (Chrome)

87318 Leg 1 1/2 (Black)

30 83871 Front Stabilizer Rod

31 82858 Superfeeder

Top Infinite Control 208V

Bottom Infinite Control 208V

32 82836 Lower Back Panel

33 82839 Left Side Cover (1 5/8, 2”)

82897 Left Side Cover (1-5/8, 2” W/control 

                                    Cover Option) Used Before 10/96.

82882 Left Side Cover (3”)

34 82837 Right Side Cover Assy (1 5/8, 2”)

82884 Right Side Cover Assy (3”)

35 82851 Control Panel

36 82823 Center Top Panel (1 5/8, 2”)

82877 Center Top Panel (3”)

37 85287 Fan Guard

38 82830 Washer Conveyor

39 75835 Element Top 69V, 350W

75836 Element Top 80V, 350W

40 82859 Top Wire Guard

41 82857 Superfeeder Support

42 69136 Limiting Thermostat 345°F

43 85601 Fuse 3.0 Amp (Optional)

44 85602 Fuse Holder (Optional)

45 82846 Fish Paper

82889 Control Cover Option

83893 Control Cover (Before 10/96)

83446 Cleaning Brush Opt Accessory

82838 Wiring Harness

85184 7/8 Hole Bushing

89054 6-32 KEPS Nut

89063 8-32 Hex Nut

89061 10-24 Hex Nut

89025 10-24 Speed Nut

89059 #10 External Lockwasher

88947 3/8 Flat Washer

88927 1 1/2 Washer Weld Pin

88909 8-18 X 3/8 Truss Head Screw

89042 8-32 X 1/2 SS Screw

89073 #8 X 1/2 Sheet Metal Screw

89021 10-32 X 3/8 SS Screw

82898 Fuse Cover Optional

82899 Fuse Cover Lock Tab Optional

a

                                  Parts Not Shown



BT-15 CONVEYOR TOASTER  (Exploded View)

Page 3 of 4                                                                    Note: When ordering, ALWAYS specify Part #, Model #, Serial #, Voltage & Phase.                                                              Form #67158 Rev. 7/06

1

2

3

4

5

6
7

8

9 10

11

12

13 14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

30

31

32

33

34

35

37

38

39

40

29

45

44

43

42

41

36



BT-15 WIRING DIAGRAM            4600W, 208-240V WITH 69-80V ELEMENTS

Page 4 of 4                                                                  Note: When ordering, ALWAYS specify Part #, Model #, Serial #, Voltage & Phase.                                                                Form #67158 Rev. 7/06


